y;
B ASSEMBLY INSTRUCTIONS
ehewaewall  VIODEL : SELENA DINING TABLE

Please read instructions carefull
Remove all wrapping materials, staples and packing straps from the carton. Refer to Parts List and Hardware List and ensure they are complete

before you start assembling. Place all wooden parts on a clean, flat and soft surface (e.g carpet or rug) to prevent parts from being scratched.
CAUTIONS: 1) DO NOT FULLY TIGHTEN BOLTS AND NUTS UNTIL ALL PARTS HAVE BEEN ASSEMBLED.

2) BO NOT OVER-TIGHTEN BOLTS AND NUTS UNTIL ALL PARTS HAVE BEEN ASSEMBLED.

3) KEEP ALL HARDWARE PARTS OUT OF REACH OF CHILDREN.

PARTS LIST (FOR 1 NOS. OF TABLE)

NO. COMPONENT QTY.
P1 TABLE TOP 1
P2 PEDESTAL LEG 1
P3 LEG PRONG 4
P4 MOUNTING PLATE

HARDWARE LIST (FOR 1 NOS.OF TABLE)

NO. DESCRIPTION
] WRENCH
H2 HEX NUT

H3 | M8 SPRING WASHER
H4 | MSFLAT WASHER

05 | JCBC SCREW M6 x 35MM
H6 | M6 SPRING WASHER

H7 | M6 FLAT WASHER

H8 | ALLENKEY M4

www.bestmasterfurnitures.com




Best Master Furniture”

The Imported Furniture Specialist

MODEL: SELENA DINING CHAIR

ASSEMBLY INSTRUCTIONS

Please read instructions carefully

2y DO NOYT OVERCTIGHTE?

3 KEEP ALL HARDWARE PARTS OUT OF REACH OF CHILDREN,

Remove all wrapping miterials, staples and packing straps from the carton. Refer to Pans List amd Hardware List and ensure they are complete
before you start assembling, Place afl wooden parts on a clean, flat and soft surface (e.g carpet or rug) to prevent pants from being scrawched,
CAUTIONS: 1) DO NOT FULLY TIGHTEN BOLTS AND NUTS UNTIL ALL PARTS HAVE BEEN ASSEMBLED.

BOLTS AND NUTS AS IT MAY DAMAGE THE SCREW RHREAD,

PARTS LIST (FOR 2 COMPLETE CHAIRS)

NO. COMPONENT QTY. q“"—_’—?
Pl CHAIR BACK 2

P2 | CHAIRSEAT 2
P FRONT LEG 4

HARDWARE LIST (FOR 2 NOS. OF CHAIRS)
NO. DESCRIPFION QIY. ,
Hi | JCBC SCREW M6 X 50  Sroessm | § 3
H2 | ICBCSCREW M6 X 60  &r-esmamme $
H3 | JCBC SCREW M6 X 35 4 2
H4 | SPRING WASHER 20
H3 | FLAT WASHER 20 COMPLETE ASSEMBLY
Hé | ALLENKEY I
H? | NAILLEG 8
STEP1

www.bestmasterfurnitures.com




